[ Efficien

cy vs vertpos |

~ 0.2

r |

10 1 10 0?
TP vertr (cr%)

[—=— DQM_original_stepZ_tbar-pnase-newgeom

mkFit_step2_ttbar-phasel-newgeom

—e— DQM_]
Efficiend —— D8M_ang|e_step2 ttbar-phasel-newgeom
—— DOM

~ 0.2

fast_step2_ttbar-phasel-newgeom

00.18F
7] F
>0.16F
>
8 C
$0.14F
(&) L
£0.12F
[J]
0.1F
0.08F
0.06F
0.04F
0.02

-20 -10 10 20 30
TP vert z (cm)

[ Efficien

cy vs.simPVz |

~ 0.2

>

8.0.18F
E L
50.16
20.14F
2 F
20.12F
0.1F
0.08F
0.06F

0.04F

e

effic

................................................

..................................................

Ratio

[ P PP P PO PO P
5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


